Stat 2470, Quiz #12, Spring 2014 Name Ké: \(

Instructions: Show all work. You may use your calculator rather than compute formulas by hand, but if
you do, ‘show work’ by saying which program you used to obtain the result and what information you
entered. Round measures of center to one decimal place more than the data, and variance/standard
deviation to two decimal places more than the original data. Round probabilities to three decimal
places (or percent plus one decimal place).

1. The true average diameter of ball bearings of a certain type is supposed to be 1.0 cm. A one-

sample t test is carried out to see whether this is the case. What conclusion is appropriate in
each of the following situations? . " \ Z (.0
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c.  Now suppose that n=50, and we kndw from previous data what the standard deviation is,

and use that to obtain a value for the z test of 1.67. What you conclude about the test if the
test was conducted with a=0.05?
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d. What is the p-value associated with each of the tests in a-c? !.[(o?
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2. What is the difference between a Type | and Type Il error?
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